
Monadisches Datalog-Programm P über τrk:

A(x)← labela(x). (1)

A(x)← child1(x, y), A(y). (2)

A(x)← child2(x, y), A(y). (3)

B(x)← labelb(x). (4)

B(x)← child1(x, y), B(y). (5)

B(x)← child2(x, y), B(y). (6)

R(x)← child1(x, y1), A(y1), child2(x, y2), B(y2). (7)

Beispielbaum:

Fixpunktberechnung:

T 0
P = {root(v1), leaf(v2), leaf(v4), leaf(v5),

child1(v1, v2), child2(v1, v3), child1(v3, v4), child2(v3, v5)

labela(v2), labela(v5), labelb(v4), labelc(v1), labelc(v3)}
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Anfrage: Q = {v | R(v) ∈ T ω
P } = TR

TA =

TB =

TR =


